For the rational function (f) x = (2x2 + x – 6)/(x – 1)

a.) determine the equation of the oblique asymptote 
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So,
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 as x tends to infinity

So, the equation of the oblique asymptote  is y=2x+3

b.) determine the x-intercepts

Let f(x)=0, we have

                    2x2 + x – 6=0

So, (x+2)(2x-3)=0

So, x=-2 or x=3/2

Hence, the x-intercepts are -2 or 3/2

c.) determine the y-intercepts 

Let x=0, we get

                         y=6

So, the y-intercepts is y=6

d.) determine the equation of the vertical asymptote 

The denominator is x-1, so we can know the vertical asymptote is

                        x-1=0

i.e.,

                        x=1

e.) sketch the graph
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